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File Edit

View Insert Tools Desktop Window Help

= commandwindow
= clear

= clic

close all

= syms t y yn tn
= tg [0:1:500]

— tn= [0:2:500]
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= yn= 1000 - B00*exp(-0.05%(tn))

10 — ploi{i; ¥ "EY; to,yn, kL)
140 = xlabel ('time (min) ')

12 = ylabel ('V(litre'}

3= grid on

14 — grid minor
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= y= 50/0.05 +50/1.0025*sin(t) + 50%(0.05)/1.0025*cos(t) - 802.49*exp(-0.05%(t))
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= commandwindow B
= clear

= clc

= close all

syms m(t)

= saltin= (50+50*sin(t)) =
= saltout= (0.025)*m =
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= saltmass= dsolve (diff(m,t) == saltin - saltout, m(0) == 150) 4 Figure 1 . = X —
% 7.5 hours = 450minutes File Edit View Insert Tools Desktop Window Help ¥
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bk = mass= subs(saltmass, t) =
1k |= plot (t,mass)
13 — g‘rid on 2500 T T T T T T T T
14 — grid minor
15 — xlabel ('time (min) ")
16 — ylabel ('amount of salt (pounds)'} 2000 -
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